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Q1) Answer any ten parts of the following : [10 × 1 = 10]

a) Write the mass of electron in kilogram.

b) What is the number of unpaired electrons in carbon atom?

c) Which bond is formed by the combination of NH
3
 and BF

3
?

d) What is modern periodic law?

e) H
2
O is liquid while H

2
S is gas, why?

f) What is the octane number of a fuel containing 80% iso octane and  20% n-heptane?

g) Write an example of a solid lubricant.

h) Define pH value.

i) 77° Clark  hardness is equivalent to ______ p.p.m.

j) Quality control of diesel is carried by ___________.

k) The carrier of electricity in electrolytic conductor is ________.

l) Write IUPAC name of HOOC–CH
2
–CH

2
–COOH.

Q2) Answer any five parts of the following : [5 × 2 = 10]

a) Which salts are soluble in permanent hard water?

b) Differentiate between cloud point and flow point.

c) What is jeweller's rouge? Write its chemical formula.

d) A family consumes 50kg of a fuel in 25 days. Calculate the average energy consumed per day. (Calorific value of
the fuel used = 50kJ/gm)

e) The hydrogen ion concentration of a solution is 0.001 M. What will be the hydroxylion concentration?

f) What are co-polymers? Give an example

g) Write IUPAC name of 'E' and 'T'
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Q3) Answer any two parts of the following : [2 × 5 = 10]

a) Write two examples of thermoplastic with chemical formula.

b) Write short notes on saturated and unsaturated hydrocarbons.

c) Differentiate between dry corrosion and wet corrosion.

Q4) Answer any two parts of the following : [2 × 5 = 10]

a) Write two differences between temporary hardness and permanent hardness of water.

b) What are the causes of scale formation in boilers? How does it affect the functioning of boilers?

c) Explain the method of softening of water by permutit process.

Q5) Answer any two parts of the following : [2 × 5 = 10]

a) Write IUPAC name of the following :

Cl CH
3

i) H
3
C – C – CH – COOH

CH
3

ii) CH
3
CH

2
CH

2
OH

iii) +

iv) CH
2
 = CH – CH

2
 OH

v) CH
3
CHClCH

3

b) What happens when? (Write only chemical equation)

i) Ethylene is treated with hydrogen in the presence of nickel catalyst.

ii) Ethylene is treated with alkaline KMnO
4
 solution.

iii) Ethyl alcohol is heated at 170° C with excess of conc H
2
SO

4
.

iv) Ethylene is treated with bromine in CCl
4
.

v) Propylene is heated with Cl
2
 at 500°C.

c) Write short notes on :

i) Catenation

ii) Isomerism

iii) Sources of organic compounds
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({hÝXr AZ wdmX)({hÝXr AZ wdmX)({hÝXr AZ wdmX)({hÝXr AZ wdmX)({hÝXr AZ wdmX)

Zm oQ > :Zm oQ > :Zm oQ > :Zm oQ > :Zm oQ > : g^r àíZ A{Zdm`© h¢ & àË`oH$ àíZ Ho$ A§H$ g_mZ h¢ &

à.à.à.à.à.1) {ZåZ{b{IV _| go {H$Ýht Xg ^mJm| Ho$ CÎma Xr{OE … [10 × 1 = 10]

A) BboŠQ´>mZ H$m Ðì`_mZ {H$bmoJ«m_ _| {b{IE &

~) H$m~©Z na_mUw _| A`wp½_V BboŠQ´>mZm| H$s g§»`m Š`m h¡?

g) NH
3
 d BF

3
 Ho$ g§`moJ go H$m¡Z gm ~ÝY ~ZVm h¡?

X) AmYw{ZH$ AmdV© {Z`_ Š`m h¡?

`) H
2
O Ðd h¡ O~{H$ H

2
S J¡g & Š`m|?

a) EH$BªYZ {Og_| 80% AmBgmoAmŠQ>oZ VWm 20% n-hoßQ>oZ h¡, H$s AmŠQ>oZ g§»`m {H$VZr h¡?

b) EH$ R>mog ñZohH$ H$m CXmhaU {b{IE &

d) pH _mZ H$mo n[a^m{fV H$s{OE &

V) 77° ŠbmH©$ H$R>moaVm g_Vwë` h¡ ................ nr.nr.E_. H$R>moaVm Ho$ &

W) S>rOb H$s JwUdÎmm H$m {ZYm©aU .............. Ûmam {H$`m OmVm h¡ &

Y) d¡ÚwVAnKQ>ZrMmbH$ nXmW© _| {dÚwV dmhH$ H$m H$m`© ............... H$aVo h¢ &

Z) HOOC–CH
2
–CH

2
–COOH H$m AmB©. `y.nr.E.gr. Zm_ {b{IE &

à.à.à.à.à.2) {ZåZ{b{IV _| go {H$Ýht nm±M ^mJm| Ho$ CÎma {X{OE … [5 × 2 = 10]

A) ñWm`r H$R>moa Ob _| H$m¡Z go bdU Kwbo hmoVo h¢?

~) _oK {~ÝXþ VWm ~hmd {~ÝXþ _| AÝVa ñnï> H$s{OE &

g) Om¡har H$s Hw§$Hw$_r Š`m h¡? BgH$m amgm`{ZH$ gyÌ {b{IE &

X) EH$ n[adma 25 {XZ _| 50 {H$bmoJ«m_ BªYZ InV H$aVm h¡ & n[adma Ûmam EH$ {XZ _| à`wº$ hmoZo dmbr Am¡gV D$Om© H$s JUZm H$s{OE &

(BªYZ H$m H¡$bmoar_mZ = 50kJ/gm)

`) {H$gr {db`Z H$m hmBS´>moOZ Am`Z gmÝÐU 0.001 M h¡ & hmBS´>mpŠgbAm`Z gmÝÐU Š`mm hmoJm?

a) gh~hþbH$ Š`m h¢? EH$ CXmhaU Xr{OE &

b)  'E' VWm 'T' H$m AmB©.`y.nr.E.gr. Zm_ {b{IE &
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à.à.à.à.à.3) {ZåZ{b{IV _| go {H$Ýht Xmo ^mJm| Ho$ CÎma Xr{OE … [2 × 5 = 10]

A) W_m}ßbmpñQ>H$ Ho$ Xmo CXmhaU amgm`{ZH$ gyÌ Ho$ gmW {b{IE &

~) g§V¥á VWm Ag§V¥á hmBS´>moH$m~©Zm| na g§{já {Q>ßnUr {b{IE &

g) ewîH$g§jmaU Ed§ Z_ g§jmaU _| AÝVa ñnï> H$s{OE &

à.à.à.à.à.4) {ZåZ{b{IV _| go {H$Ýht Xmo ^mJm| Ho$ CÎma Xr{OE … [2 × 5 = 10]

A) Ob H$s AñWm`r d ñWm`r H$R>moaVm _| Xmo AÝVa {b{IE &

~) ~m`bam| _| nn‹S>r ~ZZo Ho$ Š`m H$maU h¢? `h ~m`ba H$s H$m`©àUmbr H$mo {H$g àH$ma à^m{dV H$aVr h¡?

g) Ob H$s H$R>moaVm Xÿa H$aZo H$s naå`y{Q>Q>{d{Y H$m dU©Z H$s{OE &

à.à.à.à.à.5) {ZåZ{b{IV _| go {H$Ýht Xmo ^mJm| Ho$ CÎma Xr{OE … [2 × 5 = 10]

A) {ZåZ{b{IV Ho$ AmB©.`y.nr.E.gr. Zm_ {b{IE …

Cl CH
3

i) H
3
C – C – CH – COOH

CH3

ii) CH
3
CH

2
CH

2
OH

iii) +

iv) CH
2
 = CH – CH

2
 OH

v) CH
3
CHClCH

3

~) Š`m hmoVm h¡ O~? (Ho$db amgm`{ZH$ g_rH$aU {b{IE &

i) {Z{H$b CËàoaH$ H$s CnpñW{V _| E{WbrZ hmBS´>moOZ Ho$ gmW A{^{H«$`m H$aVr h¡ &

ii) E{WbrZ jmar` KMnO
4
 {db`Z Ho$ gmW A{^{H«$`m H$aVr h¡ &

iii) 170° C na E{Wb EëH$mohmb H$mo gmÝÐ H
2
SO

4
 Ho$ Am{YŠ` Ho$ gmW J_© H$aVo h¢ &

iv) CCl
4
 _| E{WbrZ H$s ~«mo_rZ Ho$ gmW A{^{H«$`m hmoVr h¡ &

v) 500°C na àmo{nbrZ H$mo Cl
2
  Ho$ gmW J_© H$aVo h¢ &

g) {ZåZ na g§{já {Q>ßnUr {b{IE …

i) l§¥IbZ H$m JwU

ii) g_md`dVm

iii) H$m~©{ZH$ `m¡{JH$m| Ho$ lmoV
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